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Area of Path /verandah
= Ar. PQRS - Ar. ABCD

l unit

d

Area = a ×h = b×h = c×h Sq. units1 2 3

A = h × (a +b) sq. units

Area = × diagonal × sum of offsets

= × d × [h + h ] sq. units1 2

Area = a × h sq. units = d × d sq. units1 2

Area = a ×h sq. unit = b × h sq. units
base = Area ÷ corresponding altitude
altitude = Area ÷ corresponding base

1 2

Area of shaded region = (5) - (3)p p
2 2

(a) Painting / white washing
(b) levelling
(c) Ploughing
(d) grazing / watering

R = 3 + 2 cm = 5
r = 3 cm

When to calculate Area :

A = a × a sq. unit
Side = area unit
d = 2 a

Area = l × b sq. units
length = (Area ÷ breadth) unit
breadth = (Area ÷ length) unit
d = l + b2 2

base = 2Area ÷ altitude
altitude = 2Area ÷ base
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Area = r
= Area ÷
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Area of Equilateral = (side)2
D
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Area of cross road =
(8 × 2 + 4 × 2 � 2× 2) unit2
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1 cm = 100 mm
1 m = 10000 cm
1 hectare = 10000 m
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